i
oo

ol

g

b
52

® A>B>0,C>D>0°]" AC > BDo|t}.
@ A>B, C>Do|H A+ C>B+Dojt}.

® A>B>00°]"H A% > B2o]t}.
1 1
ol - » —o
@A>B ]._A<1B ]1‘1}.
® A>0>Bo|H

A7

@ HFB<0< A

Q1 %ot

1
A”
=Ll

I =

7} Hlof Fol B




1
T<
2

©@ ¥

1
< -, 2
0

IS

1
< —
a

1 1
@—§<—a<0, §<1—a<1

1< 1 <2
1

Ol A)

3
1<1 —
< —|—a<2

2 1

< <1
3 1+4+a

1 1
0<l-—< -
l4+a 3

1+a-1

1+a

1
1+a

A

o171 a 32| WIS o1 5to] B4 kel HSHE Fohdiet,




xofl et F-64 x 42 < ax+3 o si7t BE A4 W), A5 a o] #27

O -2 @ -1 ® 0 @1 ® 2

x+2 < ar+ 3914 (1—a)x < 10] S549] 37k LE H4o]n
Swlo] ofgo] B2 10 AL 0o]ojof T},

1-a=0

La=1




xofl thet 54 (a+b)x+a—-2b> 09 slI7F x < 1Y o, xofl st

® x<-10 ® x<-5 ® x> -5

@ x<5 @x>5

(@+b)x+a-2b>014 (a+b)x>-a+2b---Q
@l 7t x<10ldB atb<0---©

@] FHE g+ b= U rH x < _“+2bo]g
a+b
—a+ 2b
o) > a+ a+b
L 2a=b---©

©2 Ol HYstHa+2a=3a<0..a<0
©& 754 (b-3a)x+a+2b>00°] HUsHH
(2a-3a)x+a+4a>0, —ax>-5a ..x>5




B Ix+1+x-1 249 W= x <aFE x> bO|t a+b S G127

@ -2 @ -1 @0 @ 1 ® 2

B ~
(1) x<-1
—(x4+1)—-(x-1)>4, x<-2
(i) -1<x<1




OJAFRFA] ¥ - 6x+9 < 0°] SIS F5HH?

@ x
@)«

rr

L=
3

rn

Al
=

2~
T

X -6x+9<0
(x-3)2<0
>x=3




5422 4 x4+m> 09 x9 gl BAYl JFT W, A% m o]

Rz
%327
1 1
o1 20 @ ® 3 ® 1
3+ x+m > 00] x9] groll TAglo] P4 st

¥+ x+m=09 WEAE Dt T of
1
D=12-4m<0 mz o

web A5 m el Hg:gre ol




8.

O|ZAFRSA 4x?2 + bx+c¢ > 09 37 -2 < x < 1
e~ bx—a > 0% BESHE G 2] 9] 4% 9] A

@ 171 @ 274 ® 474 @ 6 7H

B

1) <0,
EZx2+x-2<0¥H a & JotH
ax® + ax —2a > 0 °] F5Al0]

ax’> +bx+c>03gong

b=a,c=-2a---0)

PhE cx® —bx—a >0 °f HYstH

—2ax?> —ax-a>0,2x>+x+1>0("-a>0)
of W WA 2 4 x4 1=0 9 B4
D=12-4.2=-7T<(00|E2

22+ x+1>02

HE A xof diste] gt

wjebs Zojxl $EAE WS

statE]| o] A 1,2,3,---,92] 97]0]th,

ax>+bx+c>09 W7 2<x<19B2 a<0
S7h -2 < x < 1 01T OlAHRFE] A7} 19] BEAL (x+2) (x—




BSXax®+bx+c>09 370 <a<x<pgdd
cx? —bx+a>09 df=?

1 1 1 1
®x<—FEx>—— @ x<-—_ FEEx>-—
a B B @
1 1
@——< <-= @ —<x<=
2 @ B
1 1
® -<x<-—
B

ax* +bx+c>09 H7ta<x<polBEE
a<0°leh3l7b0 <o <x<p ol
|22 A7} 191 HEAL (x-a)(x-F) <0
FHf ¢ & Fo5IH

a(x—a)(x=B) >0

ax® — a(a + B)x + aaf > 0

o b=—-ala+p), ¢ =aaP

e A ex? — bx+a > 0 o] HASHA
aafBx® +ala+pB)x+a>0

apx® + (@ +p)x+1<0
(ax+1)(Bx+1) <0

,'.—é<x<—é (-0<a<p)




10.

BEA |- 9 < kS WESHS BE ¢ 0] gho] HEA] k2 -8 <82
k=
pus

2w, A ko] HHE2? (F, k> 0)

-k<x-2<k

—k+2<x<k+2

ojuj, o] 54| BE 57} x? — 8| < 8= WSt H
—k+2>-4, k+2<40]ojofstEE

k<6, k<2

L0<k<2

mpetA A ko] MU 20]T




11.

ax? —2ax + 3 < 05 W=Hot= x 71 Q==

=7
D a>0 @ -1<a<3
@ -1<a<4 ® -1<a<4

SHe A4 o grel ws)

@OS(JS?)

B

(i)a=0% o, A3t

a®>-3a<0
0<a<3(a#0)

(i) az 0¥ I, &5y = ax® —2ax + 3914 D < 0°|E=2




=

Xl
o 1

o

FAO] BHEske 44 10 ApE?

rr

=]
T

oo

x2 <3x+40, 3x2 = 7x > 40

®4h @5 @6H @ 1A

® 87

B

x> <3x+40, x>-3x-40<0,
(x=8)(x+5)<0, -5<x<8
3x2—Tx240, 3x>-Tx-4020
(Bx+8)(x—=5)=0,

FEUNE H<rs—, 5<x<8




2x < 4
SUEEEE 2 WEAAE A% xo] A4 Pl
x?—4x-5<0

@ 2x < x+4,

Lx<4

Ox2-4x-5<0

= (x-5)(x+1)<0

L-l<x<b

pa
=l 4 5

8, ©2] 9lel

IEHAE-1<x<4

x=0,1,2,3,4F 57




X2ol<x+1<x2-3x+1
AR5 Aolta<x<b <,
xX+3>-x+2

2a + b O] FF27

©-2 @-1 @0 @ 1 ® 2

B ~

gl & aiil & @=8 il
oy

+3 ) —x+2 ()
EholAl x2 —x-2<0,(x-2)(x+1) <0
SL-l<x<2
hollA x? —4x > 0,x(x—4) >0
Lx<0FEEx>4
EnollAl 2x > -1

1
SoX > ——

1< <0
2 X

1
wt2hA az—i,b=O°]E§2a+b=—1+0:—1




_ 3 =
25A (a-bx+ (b-2a) > 09 A7t x > S, 25

ax®> + (a+ 2b)x + (a + 3b) < 02] sfl& F51H?

D 3<x<T7 @ -3<x<1 ® x<2, x>3
@—1<x<2 ® x<-2, x>4

B \

(a-b)x>2a-b2] a7} x> S oleiw

2a—-b 5
a—b>0, 2270 _ 3 ojojof gy,
a-b 2
ZHEA _px? + bx+2b < 094
Rox-2<0, (x=2)(x+1) <0

—-1<x<?2




16. xo BHFESA a-1)>+ b+ 1)x+6>0 37t 3<x<1 ¥
i, ab ] 27

® 1 @ 2 ® 3 @1 @

B ~

(a-D)x*+(b+1)x+6>0-3<x<1

b+1 6
2 _
x+a_1x+a_1<0 (a—1<0)
e (x+3)(x-1)<0,x*+2x-3<0
b+1
t1_, 6 _
a-1 a-1
~a=-1,b=-5

. ab=5




BS54 ax? +5x+b >0 = E0]A 2 < x < 3 o= a7t oA
o] uf, ab 2] k& Fotofet.

cCh "
H -

| 2
> HE: ab=6

B ~

ax> +5x+b>0 ------ @

372 < x <3 o] i olARE AL
(x=2)(x-3) <0 A5t
X2 =5x+6<0 veen ©
SERELEEETEEEE

FHof -1 = &t

2+ 5x=6>0 ------ ©

@.©°] LA FER a=-1,b=-6

e




18. x o gt oA 5A 2 4+ ax+b>09 7t x <1 Ee=x>4 L4 O
A4 at b 9] WS FoA0A,

> E:

> = 1

2tax+b>09 7t x<1 EE=x >4 0]3H
(x=1)(x—4)>0°lA x> —5x+4>00°]B=
a=-5b=4Tt a+b=-1




19. th&2, 9] Zol7} 28em o] Wol7h 45 cm? o)l 2420

A 7bo] o] o] W$1E T £A9] Fo| HAoltt,

7tz 0] dolE xem 2l 5H, A= 0] dol= Pl em ot
ojdf], x o gk M= (holct.

T A O] Woles (7hE) (M=) = x pholt.

o]Zlo] 45 cm? o]/Fo] Fofof SRR xx () > (&)

o|AlZ AdestH ) <0

BN E A-2slistA opolct.

webs] 7hE O] ZolE 5em O, 9em ©]5k=E SHH A 2]
ol H=t.

o}
=% 00, W), ), @), 0) ol Eo1Z A2 &2 k2 ALY
@ @) (14 - x) @ Wo<x<14
® () 45 @(ar) 14x—x2 - 45

© @ (x=5)(x-9)

=2(7t=9] Zo] + A= Ael)

28 =2x+2-0P, 14 = x + (P

LPh=14-x

7t=2o] dolo] }9] i x>0,14-x>0—>x<14
L 0<x<14 - )

At o] Yol & x(14 - x) > 45

ooEN=45

@) =x*-14x+45<0

@)= (x-5)(x-9)<0




o] 7t 2 < x < 50] HEE

A WA 54 B P - =a(x- @ ®
5) <0 =
OSXSE) ...... @ >
-10 2 5

@©, @E Al TEot= si7t
2<x<50|BR g2 ZL& 20]t}.




21, x ol tHet oA A] x2 - 2kx+6—k = 0 2] A& T}E F o] BE
-1 Hof 25 wf, G4k o] 74§ Fsteizt

» g i

> " 3

= x? - 2kx+6 —k 2 o}A
P4 fx) =09 ME THE T Zo] -1 By Fonz

)
y=1(2)
\_J
\_7-1[0 @
D

(1) 7 =(k2=(6-k) >0 A

K+k-6>0, (k+3)(k-2)>0
k< -3EEk>2
(i) f(-1)=1+2k+6—k>0 A k>-7

(iii) —"—sk <-1oA k< -1

oA -7 <k< -3
webd AL ks -6, -5, —4 9] 3 Atk




22.

OIAYHA 52— mx 44 =0 9] F 2 Apolo] 1 o] YEF o=

m 9 k9] WAL

Al
=

2~
e

@® m<-5 @ m>-2 ® -2<m<?2
@ m>2 ®Yym>5
x)=x-mx+42otd &5y = y=f(z)

(
f(x) O D 2= oh3 TR} Zoh
f(1)<0°A 5-m<0

S.om>5




23. oA 2 4+2ax+a*-1 =09 F T a, ol ot e < -1 < B <2
7 AHE W, &S o] 7he] M=

D -2<a<0 @ -2<a<1 @O<a<2

@ 1l<a<?2 ®1l<a<3

B ~

f(x) =2 +2ax+a® -1 2 5OH AL y = f(x) 9
J L} g 2R Zo] Hojof gt

y=[()
\ ./
a : 2 x

=, f(-1)<0, f(2)>0

1) f(-1)=1-2a+da’>-1<0°Xa?-2a<0, a(a—2)<0
L0<a<?2

(ii) f(2) = 4+4a+a®>-1 > 094 a® +4a+3 >
0, (@a+3)(a+1)>0
La<-=-3,a>-1

(i), (i)l 0<a<?2

—
—




24. oA AA 2 +ax-2=09 F A2, Boﬂ st 2<a<0, 1<
B< 30| HUHES Sk A% 48] Zhe] WL

13 10 7
@—§<a<—1 @—§<a<0 @—§<a<1

5 2
@—§<a<2 @—§<a<3

£

XHax-22FO0H 2<a<0, 1<B<30E&
>0, £(0) <0, f(1) <0, f(3) >0 o]o]oF g},
=-2a+2>0°Xa<1

-2<0

a-1<0°Ma<1

=
~—

=2
=2

~—

-
N NN
I

3 =3a+7>00ﬂ/\-1a>_§

~

Lo—=—<a<l1
3 a




Aax? —(a-3)x+a-2=0°] Hol
DS e W% k] TS Fotolet
>
> EE: 1

e A

ol

rH
tlo

3a“—2a-9<0
1- 28 14 V28
. 3 <a< 3

“1.XX--<a<2.xx---0|2&
a®l A2 -1, 0, 1, 2

©a=-1, 20|11 T3 FL 1

J3Hd g #00]2 g = 19 = Ao gl




